EARAZROREIERT — 2 N—XBISY —F 2014538290 (£) 2[EIBR#1H

mﬂa%sﬁ kBRI 46 [B5E] B B R
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Y 2 4 3 | tAR— 1:26.4 1-1 38.4| 86.6 | 4 494 | BEBE (FR)
¥4 54.0 s (1g) |H- Ho ST A7 - ENAK
L:avw> X B:YINT H—L—+TJv)Xr - T7—LERE
: 3 | A Yaglg 1:26.7 6-5 38.0 | 83.9 | 1 476 | HAKERR (ER)
JL7 K=Ib e 5607 @) 2) A(%) HrF—L—y
RN=VIF4 BiRTy b ATF—F 4K J—HTp—L
S . 3 | fIEEBZ 1:27.3 10-8 38.4| 78.7 | 3 468 | MATTIRHE (ER)
A= F vy b e 54.0 (31/2) 46) &) #AL- 24—
X THANXN By Fxvy b B8R T — L
o Elespc| : - SHET (ER)
EY/F14 A 4t 3 54.0A 1(72{:) 4-3 38.8 | 78.8 2 (4_3‘3 ke
R:xA1=ZGr7—R B:oxFPR7UIN— [sd=te]
. - = D. NVTa1— 127, — . . =418 (ER)
L= hSAS— it 3 Do (12217/27) 6-7 39.0| 75.4 | 9 ig;) S
LT RIAVY L= Bv—UFNTT77— J=HrTr—L
N E AN = JEER A (ER)
W—LEZ FY T 4 3 ek 7 1(12/72.>8 11-10  [38.5| 74.4 | 7 (4_6;) v
L:TZRT 48— BTy RN=ZF BEX#ERS
— e 3 | BMERAS 1:27.9 14-13 | 38.3| 73.5 | 15 | 448 |EBEE ER)
717113 71 7NXE—-K—-Jb e A51.0 (1/2) (+4) ;47EZ|‘
L. T7 BRT74 977146 B 743228 —-%> i I
4 3 | SEXH 1:28.0 12-11 38.6 | 72.7 | 12 424 | EETRS (ER)
Eﬂ TARAVIZAY]” £4.0 o 6) Co) |MBINIERT
Rix L THXANAN BT BHEAUS
S53— o0 B 3 | BRE 1:28.4 2-2 40.3|70.3 | 6 | 483 |MELMEHE (RR)
98115 Z773Z3>X A51.0 (2 1/2) (-2) TIAEE ()
RTUHAZIILR BTUE—h EdHTT— L
S =N R 4t 3 | BUFEMER 1:28.5 9-9 39.5|68.9 | 8 428 | BIETF (RR)
T 3 ESZEREFZACAN 54.0 (1/2) ) |BAm
R:ALTauFY Ry BiAA S aINFE EXGEe
= 4 3 | BAUGAF 1:28.9 4-4 40.4| 66.3 | 5 426 | BIRE (BR)
M1 | Y7357 54.0 21/2) ue | EEBE
X LINANAN BRH—Ly bLF o J—HrTr—L
5 3 4 3 | AEEN 1:29.2 14-15 | 39.5| 63.1 | 14 | 416 |%EXEE (E®)
120112 LAY e A= 54.0 (1 3/4) (+6) EEEX&
L:xA1=Yr7—2 B:5y¥%—3>z0O HFEFES S
—_— # 3 | KOEL 1:29.4 3-5 41.0] 63.0 | 10 | 418 |AE—R (R®)
13fQ11| *¥EITvE 54.0 (11/2) o |ETE R
R:HYIRT1 52 B:Fv—LvA> [ilzEk e
— e i 3 | ESEME 1:29.6 13-13 | 40.0| 60.3 | 13 | 450 |=iBREZ (EX)
14/5[10| YVITEF 54.0 (1 '1/4) o |FHEG
L:xF1=dr—X B:EU/F-rUvk B 5
EHERE : — HEE (EH)
1517114 TAT77=74 U7 it 3 i (12310/20> 6-11 41.0] 58.3 | 16 (4;6) m%f;
R:vavrsheT B:T7AT7—~NAIHZ KT 7— L
i 4 3 | RILE—ER 1:30.2 16-16 [ 39.6 | 54.9 | 11 418 | BERBIME (ER)
16/ 8|16 AXEHTVEX 54.0 (1 1/2) (-12) 9/7:E (#)
H R YA BT IVEX FIRM I
@ 71 L
) 50.9-38.4
NA>ZA L | 12.4-11.0-12.1-12.5-12.6-12.6-13.2
® I —F—@EBIERL
1T=7r=
20—7—
Gol=5r= (x3,15)11(1,4) (5,14,12)6,9,8,7,10(2,13)=16
40—+ — 3,15,4,1(11,12)5,9,6,8-(7,14) (10,13)2-16
[ N3
BB 3 620M 714K 3-12 370M e E 2-6 430M JEHE 3-9-12 1,900
8 B 3 200M 3-9 670M B = 3-12 1,080 B 3-12-9 12,450M
12 150/ 9-12 430 B H 3-12 2,280
9 200M

ABICOVWTRDTEEERROODE. TR LIV,



